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ATHAEN X S X3 A 4,176,056 0 4,176,056
= 2,418,130
< 473,777
s 1,284,149
402 2I2H X201 M 4,176,056 0 4,176,056
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OFEX=X £F3 Mzl 2,000,000& x43| 8,000
202 044l 10,800 10,800 0
01 SLHOIYI 10,800 10,800 0
Ox=Ed 08I EXNRIA 3
60,000 »3H 302! 5,400
OMLZ E2IIY RIES
60,000 *3H 302! 5,400
203 YR =2t 25,000 25,000 0
03 A Z=AH S =AY 25,000 25,000 0
OJIEXNRI 2= S 25,000
301 LeHBAF 8,000 8,000 0
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OMIILB(MYE=E NHES)
1,200,000& 122 14,400
O (BYEST IHLE)
1,000,000& = 12& 12,000
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405 THobH S| 8,000 0 8,000
01 XA = ZFH SHI 8,000 0 8,000
OO0 & Ou2E Fal&Ed 2 8,000
AHCHR BHMA 135,280 115,080 20,200
201 Yute S| 58,400 38,200 20,200
01 At 22l 1,200 1,200 0
OIS 2HeA22F 2L (0FRE, HEA)
100,000& =128 1,200
02 8323l 57,200 37,000 20,200
OIS (CHOHAEE OF &, ZHE, st&Ea
g) 2,200,000& x12& 26,400
OUOHEIIASIAHER SLHE> AERS
1,000,000& =122 12,000
O4ddot+=E 3 (HoIME O E, &EA )
50,000& 123 600
O ZdE+ SRS
50,0003 x 122 +7I4 & 4,200
OA&EHl Sl 4,000
— JIAS, %), s8=22J], =2l 1,000




M EXE ML

M EXNsI 2 (53R el

el MYEX 29 BH3 CEEEED
(o
SA BB (SH) - NRAY - B Ol At o %E& HRE2
— MEHGI(HAD], AXZI]) 1,000
A& EH A= HI 2,000
ObtHE X AMEE8 AR &4 10,000
206 M = dl 6,250 6,250 0
01 X2 H| 6,250 6,250 0
OEZNMAEE dal2s 250,000& x25 & 6,250
401 Al HI L E0HHI 70,630 70,630 0
01 Al&H| 70,000 70,000 0
OMNYSI F=HOIES J|BHAl & FH| 20,000
OU0tAatE S AF™HI(EZ2, IR, 3te = 50,000
03 Al&E 201 Y| 630 630 0
OMHEX 22 2] 70,000,000 0. 9% 630
MACT EES2FHHE A 860,000 0 860,000
== 860,000
AEHI L 20| 860,000 0 860,000
= 860,000
01 Al&H| 854,616 0 854,616
OUDIE I NS AASEX SE2SHAE 2HE A
! 854,616
= 854,616
03 AlE 201 Y| 5,384 0 5,384
O=&2stdyH A 204l 5,384
5,384
HHSHAL (SEXZ M) 145,601 135,951 9,650
ol =2dH| 73,478 66, 151 7,327
oI d| 73,478 66, 151 7,327
101 Q124 H] 73,478 66, 151 7,327
01 2 73,478 66, 151 7,327
OANZ2IAIZ2 LS HHUHZ(14H) 17,868
— 6= 12,0022 x5 «10A| 2t*x12& 7,202
—-72 10,8413 22 x10Al 2t 128 2,602
— 8= 9,733 x6H x10A| 2+ 12& 7,008
- 92 8,798 x1H x10A| 2tx 128 1,056
Ox=WU2 2L 10,3443 x 14 32 A 2+ 12E 55,610
Jl2d | 72,123 69, 800 2,323
Jl2 &4l 72,123 69, 800 2,323
201 YEt2 | 42,653 42,180 473
01 AP 2t 2] d| 34,531 33,464 1,067
OYBt=2Hl = HAH A 19,633
O=2H SHHA 14,898




SH: ERHMD
N HHSAFH (SNAMD)
Sl Jl= A

(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 =224l 8,122 8,716 A 594
OfERI 1,300
— 320 e LS 380&*810=*23| 616
—JIYH BEYIIHY EF U 222 £
3803 *450= *4 3 684
O=EX& KX 6,822
—dIINSX BEEZ(1U) 700
— &SI Xl (1) 1,000
—SsX g SES(1H) 800
—EXsX It HA=zHl 1,354RA+2664 *12& 4,322
202 Odl 25,870 24,020 1,850
01 = LH o4 1l 25,870 24,020 1,850
O30 (2LH) 17,230
O=2udogl(22) 8,640
203 YR =&l 3,600 3,600 0
04 FN2ELRZ=TH| 3,600 3,600 0
FN2SHRFAHI 300,000& »12& 3,600
HRes(SEXZ D) 4,930,609 3,214,845 1,715,764
WEHHX S 4,930,609 3,214,845 1,715,764
JIEteH HES 2,930,609 3,214,845 A 284,236
701 JIEtEI HESEES 2,930,609 2,364,845 565,764
01 JIEtel HE &= 2,930,609 2,364,845 565,764
Os3X7 ZEAY SE3H 8=3 2,930,609
=z &3 2,000,000 0 2,000,000
702 )I3HEES 2,000,000 0 2,000,000
(RPIE=RSE—t= 2,000,000 0 2,000,000
OFXNRINMEIS HES 2,000,000




